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Question :

which has
maximal area ?

, Illin · IIIIII #wer : Disk !

Theorem : Let C be a simple closed curve, enclosing
area A.
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Then
,

if L = length (C), then

22 45A.

Equality holds if and only if C is a circle

Iroof : First
, by Green's theorem,X .
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Now
,
parametrice C by G : [0, 2)+ C with (81) = 1. . Then
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A : Extds = 1 In -CPINIdt . (Cauchy)
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Equality in Cauchy-Schwarz
holds iff U=U .

Why =U/Net

Note then that It) = 1800) for
all to Call this N
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rotation matrix

then U = RECO ·

Since H must have period =

A I d=
In case of circle of radius R

,
A= TR2

,
L= ZAR ,
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